L9 d 2 AEREAY BB EIrE

BB EEAET ¥

- - E-E84

1. (

10.

11.

) - B e B m#kF i ox
b leF BB e F H T E RGP A T 2
(A) 10x+y (B) 10y+x
(C)x+y (D) 10x+10y -

Br#cF 5y B

) F- Bz i@k FHEBCEKFIX PE&FIY

FeBF Sz P2 B FT AT TIRE?
(A) x+y+z (B) 100x+10y+z
(C)x+10y+100z (D) 100 (x+y+z) -

) LAk Rle b E kind pald o R4t pET 35 Adr
SR £ 113k 5 ¢ vk 43 ~ 5 BlH ¢ 35 ~h

#®ELF A%? (A)3 (B)6 (C)8 (D)10-

Y)Yy Exen3 B 1y plxEymp a7 T e kA
7?7 (A)y=3x—1 (B)y=3x+1
(C)x=3y—1 (D)x=3y+1-

YXx=—1>y=3 E T Avi- B ~- T > f efF

3X+2y=3 3X+5y=7
i (A){Hx—GyZZ ){—7x+2y=13

3X+5y=12
C) X —2y= —

X+3y="7
12 (D) axysy=01"

2a+3b=21

S x4 . ¥ & ab= 9
) e ﬁ{éa+b:20 £ 4ab=1
(A)10 (B)15 (C)20 (D)25-

) FlBlx=1 y=2 & T 7|t @B 4Es

2X+y=5 4x—y=5
A B
( ){BX—y=2 ( ){x+y=3

5x—y=3 2x—y=0
(©) {x+3y:7 (D) {7x—y:4

-\ mﬁ’:,:

) R Se) 3 fEmE e 2 AR50 {X

e N

(A)x=10>y=7 (B)x=—-10>y=7

(C)x=7y=—10 (D)x=—7>y=10-
) #ab<0: plA (a,b) & avm- B %39

(A)- &= (B)-2&:=

(Cl)z e (D)zgw o

) TR BELAE M X=—61 7

(A) (—=6,7) (B) (=7, —6)

(C)(6,2) (D) (4,6) -

) XL G oLt x+2=0 Lo y—3=0# L3 :y=

ax—7 3-8 Pla=?
(A)—1 (B)—3 (C)—5 (D)—7-

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

S E TR Wi

) LTG0 8Q (—3, —4) T x pheruEdpE 5
? (A)3 (B)—3 (C)4 (D)—4-

) LHETG G- BALTE X Ty et (0

13) v PIE AL E S AR S T Al 9

(A)x=0 (B)y=0 (C)x=3 (D)y=3-
) TG o 3N y=—1 hE] A58 y fhin gL
i@
(A) (1,0)
(C)(—1,0)
) Esy=ax+bii® (1,2) -

(B) (0,1)
(D) (0, —1) -
(2,3) A2 Al
EAR AN T
(A)y=x+1 (B)y=2x+1
(C)y=x+2 (D)y=2x+3-
) AP ehi¥ & (4,0) -

) A E(2,2) 2 (=2, =2) >
,10)

2 (0,4) ~bE (L,

R (=2
PR R B A XFY=4 IR
+?

(A)2+ (B)3+ (C)H4+

) X x:1y=2:3> R (x+y)
?

(D)5 % o
(6Xx+y) ent @ i fe

1 1
(C)Z (D)g °

THeF 0 A& 4

(A)108 = %
(C)128 =5

(B) 118 = 5
(D) 138 =5

) T AR BIEIF Gy B Xt ?

x[1]12]3|4 X|9(8]7|6
(A) (B)
y|3|4]|5|6 y| 67819

4068 x|1|3]5]|7
(D)
y | 510]15|20 yl2|4a]6]|8

) EYyEXFEL > P x=2pFy=6> PlE x=8pF »y
| g ?

X

(C)

d?‘fo-lm

"L‘

“
*ﬂ

3 5
(A)E (B)2 (C)E (D)3~

) S AR AR Y A F A5 21230 FF 4L

45384 s PIGEFEY £ EA 550
(A)368 (B)683 (C)836 (D)912-



22. (

23. (

24. (

25. (

26. (

27. (

) X=—3 % AT

) -.&951§4£/

2

4
) A M ] A ks i ?
2
5
3 S 7 11
A (B)2 (C)s (D) e
()4()3()2()5

) TR B X ehER & X—1>5 hfz ?

(A)6 (B)7 (C)8 (D)9~

FIVR— i A F N enfz ?

(A)—%x>l (B)x+3>0

(C%%4>0(D%w@o

JHER T 10 A e A 0 B gl
B AZE 300 ~ o PIRAERLT AT

= o stk
X 7o oAk

FeR— B A X

+? (A)10x=300 (B)10x>300
(C)10x<300 (D) 10x<300 -
) XN E R IRAFEIEM ER PN FAFEAL O EAE

XEF- P EOTE LA FADM G S 04 (3X

—300) <1500 - ™ 7] i@ ﬁ'\f’ At

rE?

(A = 22 EHF 7 F3
7 31500 ~ (B)§ = #* % mehp &7 % 300 & o
47647 552 31500 ~ (C)E%

7o BR300~ 0 BtsAF
ZHREDFETIT6IT 0 £ 300 % 0 ki T

= ﬁﬁ:éa\ ﬁo'ﬁ\?z\ :

155 | 160 | 165 | 170 | 175 | 180
()

160 | 165 | 170 | 175 | 180 | 185
= ¥

4 | 8 | 17| 7 | 3|1
(%)

R 7 it K 2

(A)FIAenF A A2 2> &9 tlAe$Z 24 %
LA e
® (B)F1180 ~ 185 =4 ¥ % k&
SRl (C)BELFD | a X EAERF] - 0 8A
RS e
(D)FFH 7 P AL &

r oo e 717 170 ~ 175 2> pip— &

..180 ~ 185

Hch 40 X o B% 2021 menT e
165 ~ 170 =
PE SN 'O

N i v

28. (

29. (

30. (

) R 2FLA0 A s g AT

) Bl E = ERLTLT] 4 LB I ARE S R

) 4ol Lk is
S

10 & k4 £ A ozt g™

4 600

2£ 500 476 41
400 338

/5\300 269 T30

=200|117 183224 272

= 100

158
05
é 87888990919293949596

FE(F)
(A)Z E A v & &5 3 4l g

(B)2 57 i %4 %
(C)T}iﬁpﬂb,\%i,ﬁiﬂ
(D)ﬁfxfmiﬁéﬁ?qﬁ%é

SREE AR e
D40 A 2
L BOAF A4 s B0AF 44 TOAF 6 4 5804
412459044 104 »100 4% 2 % » Pl
G o h 5 A 9

(A)70 (B)75 (C)80 (D)82-

,gﬁ—y\tﬂ—r

7| &gt @ ﬂ Fﬁ-‘?

(>)E§>‘a

S=N B N0
T T

oL

155 160 165 170 175 180
58 (17)

(A)2519 2 4 20 4
(B)# % 165 =
(C) 170 =
(D) 165~170 2 A ehiA Hc b 23R Y 4 X #1359 o

A:\E’I’JP 6 A

A,\uimﬁ 14 £



